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PART - III
greureilwer / BOTANY

(5D wHob <yhidle el / Tamil & English Version)

e jerey : 3.00 wenfl Cryw ] [ Qurss wHLQuakTsEr : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70

Siblejeorsst : (1) marsg alaméseEsd sfurs LSord 2 _GTETEHT TRTUST sflunTdss

Instructions :

&Py @ (i)

Note : (i)

(i)

Gsmetereyd. iFslLfeale GopulmiGar Sen saTaTefitiuraTiLb
o Lemguirs GsfellGseayL.

2) Beob odegm smUY oovoar LLHGW ET(RSIUS DG
AN &5CaMgHausHGL LwaTLRHES CauamHb. UL fisdr UDTUSDS
Cuenfléd LTRSS LD.

(1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@H - 1/ PART -1

SemNGS llamEs@psEh e waldsayib. 15x1=15

Gar@ssuulHerer BrenE wrpn el sald WNaeyd ghyeLw
daemwug Corps@sss @M Guen el ey Gerg s
GT(LpS@Lb.

Answer all the questions.

Choose ie i i
¢ the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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@rGurGsmbaailar Qream® gemean siwEsEHD eThg wel Blaawle dBnsswrss

(]

Qaripg Carhdmeeid ?
(=) Qusatlwd (o) sradlwib (@) Gamgwid

(FF)  oolLifren

The two sub-units of Ribosomes remain united at critical ion level of :

(a) Magnesium (b) Calcium (c) Sodium

Lellsp el b sreurliubhieug)
(<) Aever_Gurflur QuiGearadlwim
(<) Lri®rr Gl 6

(8) =ievedlwib Fumr

() Qummsdwur GerGerlLm
Perianth is present in :

(a) Clitoria ternatea

(b) Datura metal

(c) Allium cepa

(d) Pongamia pinnata

Slrensefl O(BBS 2 (Heurdmg|.
(1) L @QeverTUTE GHOSP MO GHOsLmL
(<24) Lo @QaTbd GHNEZDR GHVSLIenL
(&) ue GDEZMD GHSLIMLI

(") e weps

Aggregate fruit develops from :

(a) Multicarpellary, apocarpous ovary

(b) Multicarpellary, syncarpous ovary

(c) Multicarpellary ovary
(d) Whole inflorescence

el jweludler Hlar wlarenm L ib :

(<24) Wiewib (=,) Cpmdlerer_L b
(8) crdidengyriiiib () 100

The net charge of Zwitter ion is :

(a) Zero (b) Positive

(c)  Negative (d) 100

(d) Ferrous
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< rEHurseflub erg ?

(=) SF_CGLrurgLi (=) erireflefluim
(@) wRuGureafior

Identify the Archaebacterium :

(a) Acetobactor (b)
() Treponema (d)

() QusgsCammuméieflwib

Erwinia
Methanobacterium

Ameleasuiaauda wdimhs samg.er ewowi UGS Grammb flee emsalorang)
SILIT HmID Sigemorer jeplienus Casmem B sLGsTU LGS
(1) Soureid (<},) umrevL (@) sl (/) gL rCe

Inner, darker and harder portion of secondary xylem that cannot conduct water in an older
dicot stem is called :

(a) Alburnum (b) Bast (c) Wood (d) Duramen
BSerr@ib @LQuuIFTs geiwbd ergl ?

(<=1) urevLIFeL (<) QurlLrflwib (§) srodwibd () eomL e
The element which is not remobilized :

(@) Phosphorous (b) Potassium (c) Calcium (d) Nitrogen
QLACL Ul safled CalSl L& sreuy shsdews GhlULE :

(=) oz Lo () e L6 (@) &by (rF) Ceaurggmmdl
Which of the following represents gametophytic generation in Pteridophytes ?

(@) Prothallus (b) Thallus (c) Cone (d) Rhizophore

sUQuer eSLb 12 kG, GHepereilen Herd 10 SRiGOD OHMID GHlper
B&HS SITD 5 SikGOLIES LmHBETED FTaUTSEle 2 aTenLowTe BeT euanrEHenwid
SerTL_Hlwa|Lb.

(1) 3 SABIGDD () 6 SHBIEGOWD (@) 12 SmEeow  (F) 30 mEGoW

If the diameter of the pulley is 12 inches, length of pointer is 10 inches, and distance travelled
by pointer is 5 inches, calculate the actual growth in length of plant.
(a) 3 inches (b) 6 inches (c) 12 inches (d) 30 inches

C, sphélulled Blenpud @euleur@ CO, epasammsEGh Cameuiu@id ATP whmib
NADPH ecranenfléens :

(1) 2ATP +2NADPH (<) 2ATP +3NADPH
(@) 3ATP+2NADPH (rr) 3ATP+3NADPH
For every CO, molecule entering the C; cycle, the number of ATP and NADPH required is :
(@) 2ATP+2NADPH (b) 2ATP+3NADPH
(c) 3ATP+2NADPH (d) 3ATP+3NADPH
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11.

12.

13,

@@@ﬂmgbuﬂ@mgg sraufhisaier el HUCUTHHD CleupBETLONs o eTerg). <4,ema, ¢(m

eosglmad srarmsala oeeary @dme. gbaeamnrd, Gmailmzuilama

sreurmisaiie :

(1) QUEETWLLNE TGOS SHEMDEET BenHEHLILS)

(<) Quemembd fleve cueriédldarear GablAWD BenopgieTars)

(@) ossEEml saonsa @ waauls mbg ABSs poer ey Gaeanbs)
2AD B BHUUS

() &rré Cablwib BB HLILS)

Grafting is successful in dicots but not in monocots because the dicots have :

(a) Vascular bundles arranged in a ring

(b) Cambium for secondary growth

(c) Vessels with elements arranged end to end

(d) Cork cambium

S ppo&san @LUmels HBlOb PPUSILTS < &anCaihmLeL bl 2 (HeuTEn
ATP pparésamaaflan eramentléans : -
(e=4) 12 ()13 (&) 14 () 15

The number of ATP molecules formed by complete oxidation of one molecule of pyruvic acid
is:

(a) 12 (b) 13 (c) 14 (d) 15

Qaed sippsluden eflwren auflens :

(e21) S-M-G-Gy (=) 5-G-G,-M
(&) G-5-G,-M (,r) M-G-G,-S
The correct sequence in cell cycle is :

(a) SM-G,-G, (b) S5-G-G,-M
(c) Gy-5G-M (d) M-G-G,-S
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14. Epssamcupmer sflwrer sapflaoas sarLms.
() <wCurlermevl ereiiug Geuswreng, e ullrdp LEHsaia BanL_Glumieug).
(i) esuellen auliumens eursEGaureme 2 drarLs&wg).
(i) HAblerravl SimsdwHs Qedsallar GearmavCurALavGul L résaman

GenasHng.

(iv) &lblermev wHmb Feuafen eufl ySuwemen Cgaedlen 2 ulmerer LGS safled
L CQumiLenal.

(<=4) () OO (i) (<) (i) OID (iii)

(&) (iii) wHmid (iv) (/) (), (id), (iii) oPYID (iv)

Which among the following is correct ?

(i)  Apoplast is fastest and operate in nonliving part.

(i) Transmembrane route includes vacuole.

(iii) Symplast interconnect the nearby cell through plasmodesmata.
(iv) Symplast and transmembrane route are in living part of the cell.

(@) (i) and (i) (b) (ii) and (iii)
(c) (iii) and (iv) (d) (1), (i), (ii) and (iv)
15. Spésamoupibled LOSTWNILS STeUrD 6rg ?
(<=4) rEpdSQuyT (<) urbysr (@) Bluw,er () ACGs6u
Which of the following is polycarpic plant ?
(a) Mangifera (b) Bambusa () Musa (d) Agave

LU@&S! - 11/ PART - 11
@Dl : aTemaCWeId M NaTTESERESE oflen L wafl&sall. oferm eTer 24 -&©&
SL_Lmuwng denLweflésa|b. 6x2=12
Note : Answer any six questions. Question No. 24 is Compulsory.
16. Qprdlsdr — iy
Define - Enzymes.

17.  evdledlyerandon WHDID 4 T&E&EH &6 crem Qmis Qawsarss srarliLREmg ?
Why the cells of sclerenchyma and tracheids become dead ?

18. UQar&GLITevled DT eTeilan ? @i rHSSISET( SMHS.
What is plectostele ? Give an example.

19. euaien, Gmyev GLenl_enwl Gmgu@({r@a.
Differentiate the wood formed in Pinus from that of Morus.

20. eowl CLrareamgflugdlen Siemwlienuy UL euenrhal LTSBISMETS &N &S,
Draw and label the parts of Structure of Mitochondria.
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21.  Qureflgreilen Apliyl uasysaicy gCaad @)Tamgmen 6T (HgIs.
Write any two distinguishing features of Monera.

22. EMP aufgsLsdld urcvufarand wpmib <urevGul Basn <pdw eflaansafic
rRHUEWL AprHsamar erpgIs.

Write the enzymes involved in phosphorylation and dephosphorylation reactions in EMP
Pathway.

23, weCurmiGué gewusder gCsaud @ream® QurmerTsry P&SlusgHaisans
TPHIS.

Write any two economic importance of family Euphorbiaceae.

24. yeugsOsdlaemLw, yssmbls Gsdlonm @HUTOLT Lp(PELDWTET BHSHE LT,
saflss Lyeoadleul Lid, safllss sidelleulLib, Gl LF Goslamu Csrarr weafler
DT GSIHTSHenar eT(Lpsis. '

Find out the floral formula for a bisexual flower with bract, regular, Pentamerous, distinct
calyx and corolla, Superior ovary without bracteole.

L@ - 11/ PART - III
GPlyY : eremauGueid ypm damésErss dlmLweallssa)n. elerm eram 33 -5
sLLmwwng e weflésab. 6x3=18
Note : Answer any six questions. Question No. 33 is Compulsory.
25. unélsaile ushsailagdler aigeud safllsgiaub umnlbss aaé smaddisarr 2
2108 eflenLemw Hlwruliiu®hss)s.
Do you think that the shape of chloroplast is unique for algae ? Justify your answer.

26. sreursder &&Crrallenar Qumib @alECsrsams Qeuiuewerr UGS smery
L igwel (Has.

Jf
List out the non-photosynthetic parts of a’plant that need a supply of sucrose.

27. Geuflen LgHamaers LLLD cuarbgl LTEREMETS @Bléseaylb.
Draw and label the parts of regions of root.
28. wenmups Gad LG (el L_rHlevdle) PEALSSIuEH QD ; :
gCaaibd
gl SQUL e ene

Write any three significance of Mitosis.

29. geflégaursd wHmb GudaaresdnE QoL Cuura Coy ; .
epedlena 6r(pas. DurGadfia gCagd

Write any three differences between Photo respiration and Dark respirati
on.
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30.  sesuLDmIETET Sreurhisald sars ey WAL Lpgwitd. eremm 7
Respiratory quotient is zero in succulent plants. Why ?

31. Qﬂf(@@m@o Wenengm miarGenméduden WEHWGFIeIGEE dnfm)s.
Bring out the significance of Transmission Electron microscope.

32. enslGLrensafen aumpeilwe eflenarejseaier erCaayld epenblenen T(PGIS.
Write any three physiological effects of cytokinins.

33.

opLrRe BleoobnsssHad apl CrrelGaren Qprduder LBIEl®mer & (Pgis.

Write the role of Nitrogenase enzyme in nitrogen fixation.

Li@$) - IV / PART - IV
GO 1 emensg NamssErEEh elanweflsseyb.

5x5=25
Note : Answer all the questions.

3. (=) 5GHS TOESHEST_OsE5L6 smgssailuiar eimssmer afleufl.
SHVE0F)
(=) spaged urevuflsramd wHmb swer gefl urevufsramd Qe Cuiwirear
CaumurBEmeT 6T(LHEIs.
(a) Explain the different types of fleshy fruit with suitable examples.
OR

(b) Write the differences between cyclic photophosphorylation and Non-cyclic
photophosphorylation.

35. (21) Sienflsean aumpsamss spnéluliler o maimr sms.
SIV60F)
(=) GEpEGasray 2 amiuwjb wrHpeafll uremgsuiear Cuwr aatar ? dd
penlGumd fearsemen aflaufl. (aumruLid @g efarésib)
(a) Write the outline of the life cycle of Agaricus.
OR

(b) Whatis the name of alternate way of Glucose breakdown ? Explain the process involved
in it. (Flow chart or Explanation)

36. () Henar_GLrilwr QuiCeraflwredener semewsQarpsarmed eQeufl.
{6060
() Hr Bl ol Geéd @iy (PCD) uhil s@me,
(a) Write the botanical description of Clitoria ternatea.

OR
(b) Give an account on Programmed Cell Death (PCD).
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37. (=) UGITGEACLI_BaER&ED, WEsACLT. BsER&EED o erar Geugumr(hsearn
T(PBIG.
2|6V608)
(=) 2 ErAlCurev@uiribsefien LFSuaEmanid 2 eureyl L wenuieen el
(a) Write the differences between Prokaryotes and Eukaryotes.

OR
(b) Explain the insectivorous mode of nutrition in Angiosperms.

38. (=) @odmstion s&TEHGED, enalmslion samghEh GaLGu o drer
o ererenliliwe CoumurHisemar 6r(Lpgis.
EALM:
(<=1,) RNA -eflesr cuengseanat eleurl.

(a) Distinguish the anatomy of Dicot stem from Monocot stem.
OR
(b) Describe the types of RNA.

-00o0-
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